Partition into tens and ones
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There are 3 tens. There are 4 ones.
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 ,
3 tens and 4 ones is equal to 34. J
\ Multiples of 10
00 0000 000000 00000000 0000000000
00 0000 000000 00000000 0000000000
00 - » 0000 " ® 000000 00000000 0000000000 -
00 0000 000000 00000000 0000000000
00 0000 000000 00000000 0000000000
10 ones = 1 ten 20 ones = 2 tens 30 ones = 3 tens 40 ones = 4 tens 50 ones = 5 tens
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Number lines to 50

We can look at the start and end point and the number of
divisions to work out where numbers go on the number line. This number line is counting up in 10s.
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There are 10 Each division
This number line divisions represents 1. This number line

starts at 40. ends at 50.
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Estimate on a number line

We can use the halfway point to help us to estimate where 1 more

other numbers would go on the number line.
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1 less than 47 is 46. 1 more than 47 is 48.
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